[1614]

A

}
N
- ©
it

Y

\\'
I

. <[125]
~ [174.5]
©6.9
—A
1T — " | N I

= il i\ | B | )| /k it -
i T i : IT/I I}
1 || SE 2 | ] e ‘ :'[J IH@]] I
1 [ = ) ﬁ}‘ ] r
I I | 1Nk I
n _nﬂﬁl_] i . 1 f S I vt _ ]
1 L ,' | :‘ !i o B [\
ﬂ il M: L i : JJ\ i il E
A T e B SN[ HINRE LS
] ;- ' ' ]

:
D
_—

;
(T

|

F
<_
I

| —

AN

DRAIN PLUG

(12) WHEEL STUDS, M22X1.5
RICO PN # 914619P1

- [59]
T 23
! A [_ : H B |] ]]
Hf i S BREATHER i |
I - il \\ : . : / T —
| — IT / Tl -
& —all LTl el et i a
ml [[_L: | ] e N | N | iE]] a
- RS vl | I
:I]] | | (f'_ i | | | | [[I:
LI ' . I
R S | R R ==Y N g He |
$18.1 ®16.7 P 14.6 1 | {J R | | ! H | i
] ey N\ N
:[I] (1] { : : — | /.—-—-—-—'\I Sﬁ : : _J Mr— I]]:
— I I | I I il
:l]] [[_: | | I I H : I I | |_]] ﬂ]:
il _Lu I" ! | — : | | : ~— : i w_ 1
Y _ ] L'/ (= ' \\'J Im N
H;: | | ! : | | | |;ﬂ
I ' | T
FILLING PLUG:
FILL WITH SAE 90
GEAR OIL PER
MIL-L-2105 B, API-GL5
RICO PN # F474 SUMP COOLING: NO SEAL IN
COOLING CHAMBER. USES GEAR

OIL FROM MAIN AXLE

INLET 7C FLANGE
(4X 1/2"-20 UNF)

COOLING OIL OUTLET PORT

M16X1.5

(NOT USED)

COOLING OIL INLET PORT

M16X1.5

(NOT USED)

FILLING PLUG

FILL WITH SAE 90
GEAR OIL PER
MIL-L-2105 B, API-GL5
RICO PN # F474

DRAIN PLUG

12) WHEEL NUTS, M22X1.5
ICO PN # 914619P2
TORQUE TO 500-550 FT-LBS

REVISIONS

ZONE

REV

DESCRIPTION

DATE

APPROVED

A3

ADDED SUMP COOLING NOTE

7/13/2016

MB

BLEEDER PORT
M14X1.5

BRAKE CHAMBER
DRAIN PLUG

SPECIFICATIONS:

BRAKE INLET PORT

M14X1.5

SECTION A-A

MANUFACTURER: KESSLER & CO.
MANUFACTURER PART NUMBER: 82.7329.3B
DESCRIPTION: DRIVE AXLE D81PL489-NLB

MAX AXLE LOAD AT 9 MPH = 67,442 LBS (300,000 N)
MAX STATIC AXLE LOAD = 112,404 LBS (500,000 N)
MAX BRAKING TORQUE PER HUB END = 12,907 FT-LB (17,500 NM)

COOLING OIL OUTLET PORT
M16X1.5
(NOT USED)

COOLING OIL INLET PORT

M16X1.5

(NOT USED)

THESE AXLES USE THE FOLLOWING KESSLER DATA SHEETS:

aRroON=

WNG63270: DISC BRAKE NLB3340-3
WN85601: NLB PERMISSIBLE OIL
WN85602: NLB PERMISSIBLE OIL
WN17005: USAGE OF AXLES WITH WET BRAKES
WN85603: BRAKE NOISE PREVENTION

NOTE: THE SEAL(S) SEPERATING THE BRAKE CHAMBER FROM
THE MAIN AXLE CHAMBER HAVE BEEN REMOVED. THEREFORE,
/A THIS AXLE IS STRICTLY A "SUMP COOLING" AXLE ONLY, AND
CAN NOT HAVE FORCE COOLING. THE COOLING PORTS ON THE
AXLE CAN NOT BE USED.

T

UOS, DIM ARE IN INCHES.
X +41

TLHQ NNAOCHIMEN
'S DUCGUNICTINT

INFORMATION AND
NEITHER IT NOR THE

CONTAINS PROPRIETARY

MFG PROCESS

AR BN A 4

P 71%4%

XX +.04 INFORMATION CONTAINED PURCH
XXX £.010 THEREIN SHALL BE
ANGULAR * 1° DISCLOSED OR TEMPL FOR TITLE
DUPLICATED WITHOUT THE | GENERAL
INTERPRET DIM AND TOL EXPRESS WRITTEN MEG
PER ASME Y14.5-2009. CONSEM:(QTNI?*PR/RICO PROCESSES DRIVE AXLE
THIRD ANGLE PROJECTION | DRAWN BY | ENGINEER SIZE DRAWING NUMBER REV LEVEL
ELL RLL D 50991006 A
6 9/16/2020 9/16/2020 | SCALE 1:4 WEIGHT  1200.0 LB | SHEET 10F1

1

90016609



	Sheet1
	Drawing View1
	Drawing View3
	Section View A-A


